PI.	ANT	ENTER	PRISES	PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				4,861	cords	
Pulpwood (Total)				4,861		
Saw Timber						
Hardwood				341,573	board feet	
Saw Timber (Total)				341,573		
Total Pulpwood, Chip & Saw	,					\$466,469
Saw Timber FOB Mill						
Total Forestry Stumpage						\$178,115
Forestry (Total)						\$466,469
FRUITS						
Citrus						
Navels	6	5.5	520.00	2,860	bu.	\$40,040
Satsumas	6	5.5	520.00	2,860	bu.	\$28,600
Citrus (Total)		11.0				\$68,640
Fruits (Total)		11.0				\$68,640
GREENHOUSE VEGETABLE	ES					
Tomatoes	*	20,000.0	4.50 Yield / sq.	ft. 90,000	lbs.	\$121,500
Greenhouse Vegetables (Total))	20,000.0				\$121,500
HOME GARDENS	1,000					\$300,000
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$12,500
Plants						
Nursery Crops (Total)						\$12,500
SUGARCANE						
Raw Sugar	37	24,714.8	5,018.00	124,018,866	lbs.	\$15,068,292
Molasses		24,714.8	151.00	3,731,934	gal.	\$541,130
						Page 1 of 5

PI.	ANT	FNTFR	PRISES	PRODUC	TION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Sugarcane (Total)		24,714.8				\$15,609,423
SWEET POTATOES						
Fresh				831		\$11,634
Sweet Potatoes (Total)	*	3.0	276.00	828	bu. (50 lbs.)	\$11,634
VEGETABLES						
Beets	*	0.2	400.00	88	doz. bunches	\$616
Broccoli (Fresh)	*	1.2	240.00	283	cartons (20	\$4,245
					lbs.)	
Cabbage						
Fresh	13	17.6	635.00	11,201	sacks (50 lbs.)	\$78,407
Cabbage (Total)		17.6				\$78,407
Cantaloupe	*	1.9	320.00	608	cartons (40	\$9,120
					lbs.)	
Carrots	*	0.4	400.00	160	doz. bunches	\$1,120
Cauliflower	9	6.5	320.00	2,073	cartons (20	\$31,095
					lbs.)	
Collards						
Fresh	*	2.8	600.00	1,704	doz. bunches	\$11,928
Collards (Total)		2.8				\$11,928
Cucumber						
Fresh	6	0.5	290.00	139	bu. (50 lbs.)	\$1,390
Cucumber (Total)		0.5				\$1,390
Eggplant	*	0.6	520.00	291	bu. (33 lbs.)	\$4,365
Garlic	*	0.6	4,200.00	2,520	lbs.	\$10,080
Irish Potatoes						
Fresh	8	3.4	175.00	591	cwt.	\$20,685
Irish Potatoes (Total)		3.4				\$20,685
Lima Beans						

PI.	ANT	FNTFR	PRISES	PRODUC	TION

	PI	LANI ENI	<u>LEKPRISES P</u>	RODUCTION		
	Number of	A	Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Fresh	*	0.3	75.00	21	bu. (32 lbs.)	\$735
Lima Beans (Total)		0.3				\$735
Mirliton	*	0.6	2,000.00	1,120	lbs.	\$2,240
Mustard (Fresh)	16	34.3	615.00	21,063	doz. bunches	\$147,441
Okra (Fresh)	8	1.9	300.00	558	bu.	\$13,950
Onions	*	0.1	200.00	10	bag (50 lbs.)	\$250
Parsley	*	0.0	500.00	15	doz. bunches	\$105
Peppers						
Cayenne (Processing)	*	0.1	75.00	7	cwt.	\$175
Peppers (Total)		0.1				\$175
Pumpkin (Fresh)	*	0.0	60.00	2	cwt.	\$40
Radish	*	0.1	200.00	20	doz. bunches	\$140
Shallots	7	1.8	1,200.00	2,184	doz. bunches	\$13,104
Snap Beans (Fresh)	7	1.9	120.00	228	bu. (30 lbs.)	\$5,700
Southern Peas (Fresh)	*	3.8	120.00	459	bu. (24 lbs.)	\$11,475
Spinach (Fresh)	*	0.1	40.00	4	bu. (25 lbs.)	\$100
Squash (Fresh)						
Yellow Squash	*	0.4	165.00	69	bu. (45 lbs.)	\$1,035
Squash (Fresh) (Total)		0.4				\$1,035
Sweet Corn (Fresh)	*	0.3	500.00	130	doz. ears	\$455
Tomatoes (Field)	*	0.9	880.00	809	lugs (20 lbs.)	\$14,562
Turnips (Fresh)	8	4.3	600.00	2,550	doz. bunches	\$17,850
Vegetables (Total)		86.5				\$402,408
NEW - PERIQUE TOBACCO	*	23.5	6.00 10	23,500	Value	\$141,000
TOTAL ALL PLANT ENTERP	RISES					\$16,992,574

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Crawfish (Farm)	20	9,327	Acres in Prod.	1,165,875	lbs.	\$699,525
Aquaculture (Total)						\$699,525
MARINE FISHERIES						·
Crabs **				67,610	lbs.	\$59,010
Marine Fisheries (Total)						\$59,010
FUR ANIMALS				832	pelts	\$6,107
ALLIGATORS (WILD)				637	-	\$13,388
HUNTING LEASES						
All Other Game	15	48,026	No. Acres		acre	\$264,143
		,	Leased			
Hunting Leases (Total)						\$264,143
TOTAL ALL FISHERIES &	& WILDLIFE ENTERPRISES					\$1,042,172

^{**} The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
500-600 lbs.			134	head	\$74,916
Steer Calves (Total)					\$74,916
Heifer Calves					
400-500 lbs.			139	head	\$64,645
Heifer Calves (Total)					\$64,645
Cow-Calf Pairs			15	pair	\$14,250
Cull Cows				head	\$8,213
					Page 4 of 5

ANIMAL ENTERPRISES PRODUC	("TION]	
---------------------------	---------	--

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
	rioduceis	Froduction	Fioduction	Measure	value
CATTLE & CALVES					
Cull Bulls			4	head	\$3,674
Cattle & Calves (Total)	17	350 No. Cows			\$165,698
HORSES					
Brood Mares					
Race Horses	*	20 No. Brood Mares	8	head	\$64,000
Show Horses	*	4 No. Brood Mares	2	head	\$7,000
Recreation Horses	*	11 No. Brood Mares	6	head	\$9,000
Brood Mares (Total)					\$80,000
Race Horses	*		20	head	\$200,000
Show Horses	*		4	head	\$16,000
Recreation Horses	75		75	head	\$112,500
Horses (Total)					\$408,500
SWINE					
Show Pigs			58	head	\$19,140
Feeder Pigs			50	head	\$2,300
Slaughter Hogs			10	head	\$1,560
Culls			10	head	\$1,120
Swine (Total)	9	16 No. Sows			\$24,120
TOTAL ALL ANIMAL EN	ITERPRISES				\$598,318
ST. JAMES PARISH TO					\$18,633,064

ST. JAMES PARISH TOTAL

\$18,633,064